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Rav is a Tannah, and argues — 3°951 R17 K10 29

OVERVIEW

27 and 13m° " both ruled that 2°7ax are not counted as part of the 1°3n. The X7
challenged both their rulings from a Xn>72 which states that P n DO9aR.
Regarding 17 the X3 answered that 27 1s a Xin and can argue with a Xn»72.
Regarding °"1 the X713 answered that the X072 was discussing 117277 N372 (and not
the 77w, which *"1 was discussing). M901n explains why the same answer was not
given for both 27 and >"".

mooIn anticipates a difficulty:
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The &3 did not want to answer the contradiction on 27 from the Xn> 12, that the
XN 92 is regarding 1''127192 as the X713 resolved the question on 3''9 —

mooIn responds:
- 119557 91219 591 19 M) 19 T9IYNY PHTIY AN

For it seemed problematic to the X713 to establish the ¥n»91 and limit it to a case
of 1772 (which the Xn*"2 does not mention), and it was more comfortable for
the X713 to answer that 27 argues with the xn»-2.

mooin derives something from our X 73:
= 1197 NN 1IN 5397 HIND W 1D NI 1IN 229 9INP NYT0)

And since the X713 did not answer, "' is a Xin and argues with the Xn>12 (as it

answered regarding 27), we can prove that '3 was an R™MR (and cannot argue with

a Xn>A2 -
=299 %WUNTI %WN NN RXIN NN INT

For if *"1 was a Nin, the X3 would have answered, '»%91 X171 Xi1n "', as it
answered regarding 2.

mooIN anticipates a difficulty:
— N0 N7 2299 59INRT NN 309 %249 2YN RV INNANRT MYPNY PPN

And one cannot ask, but why did not >''1 answer I agree with 39 who is a Nin,
and argues with the Xn>72 —

" However regarding *" the Xn3 had no choice (see immediately in this m291n) and had to answer 1"»7722.
* See ‘Thinking it over’.
? Moo previously stated that the answer of 1"»772 was a pmT; why not say that "1 agrees with 277!
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mooIn responds:
= NNYT 992 159 19997 Nand 29 PINN NN NI )N 22947

For >"'1 did not assume that 29 was a Rin, since *"1 argues with 27 everywhere.
= NN 9OV 1IN 229 9) NIIN 1M

However, there is another >''1 who was a Rin -
2995 s))h” 29 Y929 ‘noron MY 11999 (aw 8,00 97 90T YNDIVA NIINT

For we learnt in a X022 in the end of 9°11 noon; ‘and what is the size of Xo%on?
>'"9 explained, etc.’ It is obvious that this *"3 was a Rin since he is cited in a Xn>92.

SUMMARY
The &n>92 of '11an 11 0°%2KY' does not seem to be discussing 1""1772. 131 'Y was an
X71X and considered 27 to be an X71aK as well.

THINKING IT OVER
When the X713 answers (on the very top of 2,7) 121 77722 X°77 8°10 °, is the Xnnd
X737 answering it, or is it *"3 (himself) who is giving this answer?

* The mwn (and Xn3) there are discussing that when one moves a body found in the road one must also take
(beside the body) the 701N (the earth surrounding the body). There are various opinion what this refers to. One
Xn>12 cited the view of (°X1¥ 12 ow31) > as to how much the 770N is.
> See n1v0N there in X177 7"7 7°11 who writes: 11 72 1a71° °27 XX RN 1Y M a N7
% See (the nwoMN by) footnote # 2.
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